N = 361 N = 362 N = 363

361 circles in acircle 362 circles inacircle 363 circles in acircle
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radius = 0.048551920562  density = 0.850981325482 Desme radius = 0.048449807344  density = 0.849752947065 e radius = 0.048395041716  density = 0.850175062758
ratio = 20.596507582515 contacts = 87 ratio = 20.639916953640  contacts = 832 ratio = 20.663273850829 contacts = 830

N = 364 N = 365 N = 366

364 circles inacircle 365 circles in acircle

radius = 0.048329155342  density = 0.850197441210 DE3e radius = 0.048257299209  density = 0.849999928336 DE3e radius = 0.048200776841  density = 0.850333249036
ratio = 20.691443765643  contacts = 846 ratio = 20.722253760391 contacts = 834 ratio = 20.746553593912  contacts = 834

N = 367 N = 368 N = 369

367 circles in acircle 368 circles inacircle 369 circles in acircle
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dius = 0.048136359143  density = 0.850379029257
1

ra dius = 0048031380743  density = 0.848980981277 e radius = 0.047952067515 density = 0.848478887437
ratio = 20.774317331090  contacts = 810 5 845

ra
ratio = 20.819722117727  contacts = 851 ratio = 20.854158158815 contacts =

N = 370 N =371 N = 372

370 circles in acircle 371 circles in acircle 372 circles in acircle

radius = 0.047872252622  density = 0.847948451309

radius = 0.047740919004  density = 0.847860669213
ratio = 20.888927201651 contacts = 845 = 86

ratio = 20.946391918350 contacts = 869

radius = 0.047792616107  density = 0.847413771264
ratio = 20.923734280650 contacts = 832




